Baremetal scenario 1: no trunks

User1: un1 (Neutron net, provider
segmentation 100)

User2: un2 (Neutron net, provider
segmentation 200)

/ Control Plane\

[ patch br-int
Ironic

]

br-mynetwork

|

patch ][ eth1 ]

|

\_

/Uplink (Trunk)

VLANs 100-400
(tenant vlan range)

ToR (Top of the Rack swit

- - .

ch)

Access
100

Access
200

| (o] (o] (o] (o

vlan

100
200

User1 VMs: BM1
User2 VMs: BM4
Free VMs: BM2, BM:



User 1

Baremetal scenario 2: trunks single user mixed
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Baremetal scenario 3: trunks multiple users
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